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Electric Current (g 9rr)

Q1. An electron revolves 6 x 10° times per second in
a circular path. Find the value of currentinit. (2016)
Teh Folacled JarhR hall H 6x10° TFhe Ufd AHUs Hr a3
qH & ¢ U # Jed ydifed ORI & AF AG DT

Uy 2. fpE OTATT] H gelacid 0.7 AT & e A
6.6x10° /4 T Al F I BT ¥l HET A JoI GRT AT
HfST|

Resistsnce , Resistivity ,

Specific Resistance (RIRF gfaxiw),

Q 3. The resistance of a wire is 8 Q). After stretching its
length becomes twice. What is new resistance of the
wire? [2015, 2016]

8 311 & HIC AR P WiadY SHI TS QAT DI al
ST &1 @R & A3 iy & qorar HifSv)

Q 4. The resistance of a wire is R Q. If it is stretched
n times of its original length, what will be the

resistance of new stretched wire ? [2019]
e ar @1 Uiy RQ Bl IfE 38 e Fars & n T

e S &, @l 36 Wi §U &3 dR &1 Ty &:1 gl
(2019)

Q 5. Masses of three wire of copper are in the ratio of
1: 3: 5 and their lengths are in the ratio of 5: 3:1.
What will be the ratio of their resistances?

dld & N ari & GeFAA 1:3:5F 3Ud H AT Sefeht
FFAEAT 5:3:1% AU A &1 37 3gd ufaied 3 =
3T gem ? [2022]

Q 6. Write down the unit and dimension of specific
resistance. [2011, 12, 15, 22]
aRrE gfaia &1 dA=e va foer @)

g 7. e ufady & aRemor qur #amEe faf@u)

20 T TFS AR P Giga TP FFaS A 25% D I
N K &l A3 IR & gfary # gfaera gig & sorar
HfaTl  [2022)]

Q 8. The length of filament of a bulb 200V, 0.2 A 'is
20 cm. Specific resistance of filament material is

5x 107 ohm-metre. Calculate the diameter of a wire.

200V, 0.2 VPR URT dTed ed & deg & dR D s
20 ¥ }| deg & uard @ fafRE gty sxi07 -
HeT &1 IR & | i v Hifdw) [2018,20]

Conuctivity,
Specific Conductivity ( IR =reredr )

Q 9. Define electrical conductivity. Calculate the
electrical conductivity of the material of a conductor

whose length is 3 m,area of cross-section is 0.02 mm?
and has a resistance of 2 ohm. [2020]
&g Arerhr B IRAWT FfSTT| T e & gerd &
g Arerar H U HSe| SEd TS

331, uR=ee &9%war 0.02 e 3 ufay 230 #I

Q 10. What is the specific conductivity of conductor?
Write down the unit of specific conductivity in

international system. OR [2014]
Write down the formula and unit for specific
conductivity. [2018]

e arere uerd &1 Afre e F=r €2
fafdre aremar @1 ERTE vgfa & aE Hfaw|
ar (2014)

fafre rerehar & fow g3 g A fAf@w)
(2018)

g 11. Rafe gfarg dr aRemur 5w g a@Ees adasv|
fafre afatty gor RARE dyga-aremdr # &= Feaey &2
r  fafde ofoiy fr aRemr e (2014, 15)

Mobility (fa=frerdr )
Q 12. What do you mean by mobility of free electrons
in a conductor? Establish the relation between

mobility and specific conductivity of a conductor.
OR [2017]
What is mobility of charge? [2020]

U4 13. did H b Seldeial P gdca 8.5x102 3 &1 20
[T FFITS AT 1.0 [T 2 FFUEY RO & dld & dR
¥ P UdIfd 9T & A AT HIoU| dR & 4 dee @
el S & g ar # ol A afasfierdar 4.5x10 6 #e
dlee ~ 19 1 (2020)
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Q 14. What do you understand by charge dynamics ?

3magr & afaeierar & @ @esa €2 OR - [2020, 22]
Define Mobality. [2022]

Current Density ( YRT-9dcd )

Q 15. What do you mean by current density? Write
down its unit? [2013,20]

TS 16. URT-Ucd j @ 3T FIT THASIA 62 STBT ATAD
MKSA Tgfad & fof@u qur e g3 aasul (2013, 20)

Q17. 3.2 Acurrentis flowing in a wire of a cross-
section area 2 x 10-6 m?. Find out the current density
in the wire. [2011, 14]

dld & T dR, fSadT Uy dIC 2x106 W & H 3.2
VFTIR 9RT varfed & - &l dR # gdifed 9RT-Gedcd &1
A A1d HIfAT]

Q 18 Write down the relation between current
density, specific conductivity and electric field and
derive the unit of specific conductivity from this
formula.
YRT-uAcd, TAfRIE @Tefhal T fagd &7 & &g IEw
gFa-y foafauw g2 sad Aty aredar &1 dAF6 [aifav|
[2018]
Temperature Dependence of Resistivity

Q 19. Explain increase in resistivity of a metal with
increase in temperature. [2017]

Q 20. What is the effect of temperature on resistance
of metal? The resistance of platinum thermometer at
0° Cis 32 and at 100°C is 3.75 Q. At unknown
temperature, the resistanceis 3.15 Q. Find out the
value of unknown temperature. [2015]
T Coifead ufaiy amuardy &1 gfakiy 0°c arg X 3.0 319
JAT 100°C W 3.75 3NF & R 31010 19 W SHRT
faa aa 3.15 30H &1 37T d9 FT AT AT HfoT]

Q 21. Calculate the resistance of Heater of 1000 W -
250V in perfect illumination state [2015, 2018]
1000 W-250 V& € & dR & Ui g hifaw]

U 22 sogeEr & Aifd-dlel W drashd & YA 6
=T Hifaw| (2018)

Q 23. Managanin is used for making standard
resistance. Why? [NCERT, 2018]

Q 24. Write down the name of such two materials,
whose resistivity is decreasing on increasing the

temperature.
¥ ar ueref & Ay T Sadhr ufausdr av gea )
gedr # (NCERT)

Q 25 . Describe the effectof temperature on
relaxation time of free‘electrons of conductor.
[2011, 14]

Ohm’s Law (311H & &I4)

Drift of Electrons & Origin of Resistivity
Limitation of Ohm’s Law

Q 26. What do you mean by non-ohmic resistance?

Define non-ohmic resistance and give one example of
it. OR [2019]
AN aRTY F 3T FA1 FHASIA &2 STR Th SeIe<or
afami AT TTeh R FEd 2

ar ITTHD Ul &1 JY Fr &2

Q27. 2mAcurrentat 50V and 3 mA current at 60 V
is flowing in a conductor. Explain by calculation
whether the conductor is ohmic or non-ohmic.
T dleldh A 50 dlec WX 2 fHell RfFTIX AT 60 dlec X

3 el APUeR anT Tedr §1 Irele 3T § A1 3T-30
9 I0TAT gRT TAE HIAT|

U228 U aw gRuy & gear 9 Sd hifo:
(i) U ufaiyr & garfed OrT
(ii) el & TBRT A areedn|

Ey =4V E,=8V
AMWA———
rn=05Q - r,=1Q
AW AN
45Q 3Q
AMAMA—
6Q
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Q 29. Draw the graph between potential difference
and current for metallic conductor and bulb of a torch
at low potential difference. [2022]

UH 30. FH WA} W UIfcas Tl U eI & dod &
o, fAsaear 3R 9T & = g @ik | (2022)

Drift Velocity [310are (3{c]91del) 97 ]

Q 31. What do you mean by drift velocity of free
electrons? Explain the Ohm's law on the basis of drift
[2014, 17, 18, 19, 20]
What do you mean by the drift velocity of free

velocity of electrons.  OR

electrons? Derive the Ohm's law by using the principle
of drift velocity of free electrons. OR  [2013, 17]

What do you mean by drift velocity?
Also find the relation between current and drift

[2013, 18, 20, 22]
Give the definition of drift velocity and write down

velocity. OR

the relation between current and drift velocity.
[2018, 20, 22]

IAH Fordgidl b HFIHA AT T AT FIT FASIS § ?
FATFCI IS AT F Rgl=d gRT 3NA & [FTH Fr
GrecicaEl ar (2017, 18, 19, 21)
frel arered & fAHdedR qUT H{H SAacidl & HYdTS
(3ITHA) AT & " BT FFIEY TS HIISCI

7 (2013, 18)
AP FolgelAl b 'HUAle I H T FAT FHSA &2 (2015)
D Folgelal b IUATE A9 b YR W NA & Ags &
TG HIfST| B} (2014, 18, 19)
I Aer & aRHr el ar (2014, 19, 20)
D FoldelAl b TS A9 b YR W A H FgH
e HfAT (2017, 18)
D Foldeldl Bl IIHA AT FASNST| AT daT g
URT-gdcd & &g ey TAMT HIfeT| I (2016)
3garg 91 Y gReET ATHT| 3uarg 9T Td fagd urT #
FFaey TUfua Hifew| (2018,22)

Q32. What is the difference between free velocity and
drift velocity of electrons in metals. ? [2014]

g3t # Selacial & AAAAT (FH) A7 3R 35
HITAA AT A FAT e} B2 (2014)

UH 33. UTI3HT H Fh Felarcial b IUATE AT UG Aifdeprer A
ey QU] gy Tl & 37 qdrsv| (2016)

Q 34. A conductor of length L is connected with a cell.
If in place of this conductor, another conductor of
same material and same width whose length is 3L is
connected with the cell, then-what effect will be done
on drift velocity. [2014]
LSS & Teh aToieh Dl E fagd dieed del I Hel & SisT
ST &1 I 58 ared & T W A U1 g FA
Ales & fREY 31T dTeld foradhT ooars 3LEL I J s
feaT ST T 3IITHA 91 U AT YA USan ?

Q 35. Prove that J=0E, where E electric field of
conductor, J current density and o specific
conductivity? OR

g AT 5 j=oF, STl E AT @ dgd &7, j 4T
edcd duT ¢ TARIE arewdr ¥ (2014)
What is the relation between electric field in
conductor and current density? [2014,20]
Q36. 90 coulomb charge flows in 75 minutes in a
silver wire of 1 mm diameter. If number of free
electrons per cm? is 5.8 x 10?2, then find out

(i) current and

(ii) drift velocity of electrons. [2019]
1 el oo & T & Uh ar A 75 Adc & 90 FerH
AN yarfed gar &1 IS ofq Qe 3 3mAda & Ih
Solgeial I TEAT 5.8x 102 @ Al ATd Pl —

(i) dgT URT FAUT

(ii) STl T 3T T

Q37. A current of 0.5 ampere flows in a wire of
radius 0.5 mm. Number of free electrons per unit
volume of wireis 4 x 10% per metre3.

Find: (i) current density in wire,

(ii) drift velocity of free electrons. [2017

0.5 e sar & e ar & 0.5 UFgIR FHr 9T I8 W

g1 G arR & IqF Folagiar Hr FEAT ax10% yfad A &,
S HIHA A Y 0T HTFTY
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Q 38. Write down the relation between potential
difference of conductor and drift velocity of free

electrons. [2016, 18]

U4 39. fohel URTATE @Tele # URT Gelcd j, HITHA AT vy
, Ul Uehieh 3T H A SAAdeial 1 HEAT ndqT HeA
3O e A TFIY TATAT AT a1 (2017)

Electrical Energy and Power [FaiT d2T 21fth |

Q 40. How much energy will be spent in a 1k-W.
electric bulb in 1 minute? [2015, 16]
1 freliare & Ry gea F 1 ffide F fhaeh st eaa
grafr 2

Q41. In a house, 200 bulbs each of 60 W are
connected in parallel with the mains of 200 V.
Calculate the consumption of electrical energy
per day (24 hrs) [2022]

UH 42. 60dlE, 30alec & dod DI 90 dlee TTalls UT Siollel
& forw Aofepa & S ufay &1 A @ AfST (2014)

Q 43. Two bulbs (60'W - 220 V) and (40 W-220 V) are
joined in series with 220 V mains. Find out the total
power of the bulbs. (2020)

& Jed (60 W-220V) AT (40 W-220V) &I 220V #Hed o
AuishA A SAIST ST &l Toall BT Pl A AT DIV |

U 44. 60 W-220 V AT 100 W-220 V& aF ded
Fofiehd # Sz 220 diee Aed F FHaud Fd T §l
39 ydifed @1 drell 913 &1 aurar fAifaw) (2017,
20)

g dod AR A A S I} aa 9RIT fhaer giefi?

Combination of Resistors-Series and Parallel

U145 10Q UfAY & dR Pl 5 W AN F PFic
3P AR hel H SNST IT & 30 FIreld T TRuTST

gfeRiy 1 Hifsw| (2014)

usr 46. T # 2T 9T 750 F UG F yarikd URT @

A AT HfST (2017)
100 Q A

AAAA-
l——wuvv

E=190V =

Cells, EMF ( fagq ares o),
Internal resistance( 3T=a® ufaRie)

Cells in Series and in Parallel

Q47. What do you mean by electromotive force of
cell? Why the electromotive force of cell cannot be
measured accurately by voltmeter? - OR-[2014, 20]
A & fagd aresd def & FA1 dcad © ?

fReT dlecaliecr # Hol &1 fdo dlo g Fel-Fel FAl el
AT ST FehelT © 2 OR

Explain the meaning of the e.m.f. of a cell. [2022]

frel dgd a« & fagd ared o @1 WY FASST

Q 48. 'EMF of a cell is 2 Volt.' What do you understand
by this statement? [2020]
Teh Ul T TG dareeh el 2 diec &1'SH YA Bl R
KRl ) ar
et der & cfiad RFaemR, @ are aa dar 3=aRk®
ooy & aFaey Tufia fifae qur Ruee 5 cfiaa
e, @ @ off TRt 9RT W AR Har &)

(2013, 2016)

Q 49. Find out the reading of voltmeter with the help
of the given electrical circuit [2019]
f&T 71T Iy aRuy & e @ diecsiel & uredid Al
HraT|

)
U,
E=18V

—] }
1F

"'1=2Q

Jlf2= 1Q
| I

E;=12V
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Q 50. Write the difference between electromotive
force of cell and terminal potential. [2013, 15]
A & fOgd dres aa Td fAqe RAFaeaR i 3w Te
e

Q 51. When an external resistance of 60 Q is
connected across the terminals of a battery, 0.3 A
current passes through it. When external resistance is
reduced to 30 Q, 0.5 A current/passes through it.
Calculate emf and

internal resistance of battery. [2014]
60 319 & T Uiy & def & e @ Sga W

0.3 UfFTRR &t 4rT garfed @l § T gfaiy ger 30
A A & W URT Fl AT 0.5 VPR & Srar &1 Jed
F o are g1 31K 3eale gfaer & o Hifew|

Q 52. A battery of 12 volt electromotive force and 3
ohm internal resistance is connected with a
resistance. If the current in the circuit is 0.5 ampere
then what'is the value of connected resistance?

12 diee fagd aeed aof QAT 3 3NA HaRes gfaie delr
& fordr ufaius @ FAIfSa fear orm &1 af ooy &
URT 0.5 UFPRR & o ufauy &1 &1 = &2 [2020]

Q 53. In the given circuit, calculate the potential
difference between points A and B.

10V, 30
—
LAy e
A+ B
o2V . 1Q

U 54. Y T qRUY H uRF A F /W & 9=
RsaeR A fifaw) (2018)

Q 55. There is a 1.5 volt potential in between the
plates of a cell in an open circuit. If this cell is
connected to resistance of 10 Q, then potential is 1.2
volt in between the plates of this cell. Find the value
of current carrying in 10 Q resistance and internal
resistance of a cell connected with circuit.

OR [2015,2016]
The potential between the plates of cell in open
circuit is 1.5 V. When this cell is connected to 10 Q
resistance, then the potential difference between
plates is 1.2V. Draw the electric circuit and calculate
the value of internal resistance and current.
ol TRUY F Th e & Colel & I fFAHAER 1.5 dee
Bl 50 AT P 10 3 & Uy ¥ Sz W HAI Tl &
dra faxaea’ 1.2 dlee @ Sar &1 3gd oRuY e dd
& Heaer Ul ud 10 3 & ufay & varfed e
arell YRT &I AT A DI | [2015, 2016]

Q 56. When 0.6 A current is drawn from cell, then its
potential is 1.6 V and when 0.8 A current is drawn
from cell, then its potential is 1.3 V. Find out the value
of internal resistance and electromotive force.

el ¥ @ 0.6 UFTIR 9RT @1 W 3N cfAA dreear
1.6 dlec @ ST & dUT 0.8 VWERR 4RT o W AT
dlecdl 1.3 diec @ Sl &1 Vol & dgd dred aa adr
3eaRe gieRkiy a1 Hifaig| [2017]

Q 57. When 0.5 A current is drawn from cell, then its
potential is 1.8 V and when 1 A current is drawn from
cell, then its potential is 1.6 V. Find out the value of
internal resistance and electromotive force.
Th U ¥ 0.5 VPN 9RT ol U 3HHT faHarear 1.8
dlec UM 1.0 AP ORI o W 1.6 dlee & 1T &1 Al
&1 HedRe ufaiy aur fagd aes g« ad Hifaw |
[2015, 16]
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Q 58. What is the meaning of internal resistance of a
cell ? On which factors does it depend?
A battery passes current i; in a resistor Ry up to a time

t and in another resistor R, for the same time, current
is io. If heat produced in the resistors be the same in
both the conditions then prove that the internal
resistance of the batteryisr= \/m
Rl AT & 3TedRe Ufady &1 21 I 2 I b PRept
W AR e &2
T dedl R, UFRIY # t T a, iy R yarfed el ©
JAT UF 3T UfcRIY R, # 3 & FHIT dd i, ORI
varfed @i &1 IfT St g3t & gfadt F FHE Fuar
3cUed @l da g ST 6 deif & 3neaike gfaiy
r=/RiR; [2022]

sl 59. A & 3R UfalYg & 3T T JHSd &2

b1} (2015, 16, 18, 22)
Aol AT NedRd Tay fhed-fehe aral ox AR Hear &2
(2018, 22)

Q 60. The plot of the variation of potential difference
across a combination of three identical cells in series
versus current is shown.

What is internal resistance of each cell?  [2017]

U4 61. 3Tk UG 12 Tl § [ & Ucdd & [dodloas
1.5 dlec dAT 3edRed UG 0.5 3NHA &I 57 T Hell &
AT BT YA &b 1.5 A & A ufadry F faga am
garfed A 1 3T Fell A FE ypR TAST HLar
a8 38 ufeaiy & 3Fead ar et ? 3fRedd arT @
AT A AT AT

Kirchhoff's laws [ TRET® &1 A9 ]

Q 62. Explain Kirchhoff's laws with diagram in
connection with electrical circuits. OR [2014]
Mention the Kirchhoff's laws for electric circuit and
explain with circuit diagram. OR [2020]
Explain the Kirchhoff's laws for electric circuit. State
[2019,22]
Write down the Kirchhoff's law of current and voltage
[2019,20]

Kirchhoff's current law. OR

with examples.

3gd uRuYy & fou fheEis & HIA o1 Seow AT 3R

TPl GRUY FAThY HHASATST| [2014]
foris &1 arr FIE RfET gur arr & for g ok
Y garsu| ar (2018)

URT I drecal gFa=dl frare &1 Jge @f@Tl (2015, 17]
faga aRuy goaetl e & AT @ 3ereor g
Ty HifaT|

Q 63. Calculate the currents in each branch of the
given circuit.

fer av gRuYy & fOU ycde arEr # dga arell URT

T HfS [2021, 2022]

A 2IIV B
L e i1

20 4

1V _ s1Q

L&
J 3

2 T c

Q 64 Calculate the value of current i in the following
figure.

T R’ & 9RT i &1 A9 AT hifew | [2017-19]
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Wheatstone bridge [c&lcEeld 'Qg]
Metre bridge [ #/cX & |

Q 65. What is the principle on Wheatstone bridge ?
Derive the balance condition of Wheatstone bridge
with the help of diagram. [2014]
Fcred o & Rgia &1 8?2 IR A dedr a
eEeld oo 7 g Fufd egetes il

a7
Draw the circuit diagram of Wheatstone's bridge and uH 67. 7 #, afe yr@A 63 @rs faeiy et &l 39
obtain its balanced condition. OR [2017] aRM & YR R Al TUT T Yarfed ORI &7 Hel
HcEd Ag A URUY 3N@ FABT HR 37H Aferd uRefera Hifsm| (2018)
ufa sra Aifee) [2017]
With the help of Kirchhoff's laws of electrical circuit, Q 68. What will be the effect on balanced condition,
obtain the formula £ =2  for the balanced state if the positions of the cell and galvanometer are

Q S y . .
of Wheatstone bridge; where P,Q,R and S are the [l anced igliRRatstone bridegg Py
resistances of the four sides.
dga oY & forw Rreait & fAgat &1 seaa HifSe
aUT 37h Hekdal ¥ el efieeca dg & Fediod sl Q 69. On which principle does the metre bridge
aﬁrzﬁg=§ TR PIfoTT, Sel Hbal T WA work?
3 o (2014, 19, 20, 22) Following is the'circuit diagram of a metre bridge for

finding the unknown resistance X. Bridge is in
FIcEd dq &l URUY T digey sHHT FregraeAT &l balanced condition. Find the value of X.  [2022]
gfde=y fAwrfom| T (2014, 17) Mex A fre Riged W R e &2 37 GieRkIg X
EICESNT A Pl Held JaTAT A SHHT o3t & Uiy I A & Hex g B GRUY NG Fead &1 g
H goaeyg TATAT Hifew| 7 (2017, 18, 21) Hodeld B 3TEAT & &1 X Hel A S|
FIcEd A &l URUY 3NE WifT JAT HJod &
ufdaey @1 et i@ HifSv| 7 (2017, 22)
FcEed e Ngled &1 dere a1fd & faf@T)
(2018) - c 5 10Q I
Q 66. What is the principle of Wheatstone's bridge? || ) L
The given circuit diagram shows a balanced. - 5 = -
Wheatstone's bridge. Calculate the value of R. A% 52em —aRJ ;
[2022]
il
B Ax
WY ®G b
AN la © .Lisa |
Iy
{F—
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Potentiometer [ fa37aaATdY ]

Q 70. Describe the construction and working principle
of a potentiometer. How can compared the emf of
two cell. Discuss it, using the circuit diagram
fagraardt (@R eR) 6 aar aur s & aofa
HISTT| TS GRT & Jell & o aed o HT Jofem Ha &
Sell §? URUY 3IRW dAR TASEE | [2015,2017]
a7
Define the potentiometer. How we can find the
internal resistance of a cell with the help of it?
fasrgardt & oRa HifSw| g1 sqhH gergar @
¥l P AARS a0y F A1 B Fhd §2  [2013,15]
ar

Describe the principle of potentiometer.

Draw a circuit diagram to find the internal resistance
of a cell with the help of potentiometer and derive the
formula'used. [2013, 15, 19, 22]
fasgard & Riged et | fasaemdr @ fondl da &t
Heaker Ufallg 1d ol & fov aRuy 3mw difaw q2ar
g FF Pl UG difew| AT

T FAHTAT &I HEAT qAT FREAR w1 guia Hifew]
ZHSd g Aol &I [agd dies aof H8 A1 fhar Siidr g2

Q 71. Why is'a potentiometer considered superior to
a voltmeter?

The length of a potentiometer wire is 200 cm and a
current of 3 x 102 A is flowing in it. Balance point is
obtained at 50 cm when connected with the cell of 1.5
V and internal resistance 10 Q. When a voltmeter is
connected with the cell balance point is obtained at
49 cm. Calculate the resistance of potentiometer wire,
resistance and reading of voltmeter.

faaTdt v diccdier ¥ A8 AT AT ST & 2

e fAgemd & arR fir dFars 200 A 3R sTA yared
YRT 3x10-2A §| 1.5V 10Q Fedikep UAUY arel AT O
oo =g 50 Wl WX O @ &1 A & Teh dlociey
Seal W Foqgeral [eg 49 @ 0T 311 Srar 1 fasrgardr &
AR &1 gy, diecaliey & UfaRlg Ud 8% ursdic 6

IUTET DT (2022)

Q 72. What do you mean by sensitivity of
potentiometer ? How it can be increased?

feraardy & ganfear @ @ drcud T2 @ &N gern S
Hehell 2 (2016, 22)

Q 73. What is the relationship between senstivity
and potential gradient? Voltage of 2 V is applied
between the ends of a 5 meter long wire of
potentiometer. Find thevalue of potential gradient in
the wire. [2016, 22]
g4 74. Fasraardt @1 Rigled T diaex gasse| I8
dreedie AT w4t &2 T (2018, 22)

TH el &1 TG @rgeb &l AU & U alecdier &r
3987 fasraedt @ AT =t S €2 AT (2014)

Q 75. Two cells of emf E; and E, (E;> E3) are connected
as shown in the figure. When a potentiometer is
connected between A and B, the balancing length of
the potentiometer wire is 300 cm. On connecting the
same potentiometer between A and C the balancing
length is 100 cm. Calculate the ratio of E; and E,.

E1 @ E; (Es>E,) dedro o arel &1 @l RAIIER S ¢
ST faHgaATdr AT B e ST B, a9 [qeaATd dr

Hodfoid TS 300 YH & ST FA faygaAd A dcd

dr SET @, da Hdfoid oears 100 ¥l ¥ E1 9 E; &
3T Y IO B [2018]

. E .
pan e aul s

UH 76. U 3 dloc fagd aresd dof B Aol 4 3NA iRy

arel fawgaArdt dR ACH HEF SE &1 2 3N ufay & R

& I AR <fd ST, I Feush faeg B fasraamd
R & & 7T A o (2015]
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Q'77. In a potentiometer, balance point is obtained at
length 339.4 cm for a cell of emf 1.0182 V. Find the
potential gradient of the potentiometer.

forelt fastgamdt # 1.0182 diee [dodreger & der & fow

Wﬂﬁ@aamﬁﬁrqummm 9T
$r faHa gavrar Ia HifSw) [2016]

Q 78. The resistance of a potentiometer wireis 9 Q
and its length is 9 m. An unknown resistance and 2V
cell is connected in series with it. What is the value of
resistance so that the potential gradient will be
1uV/mm? [2018]

E fAHTATd & R & Uik 9 A § TAT dFETS 9
X & | T 3 Uiy 3R 2 dlee &1 Th A SHF
Joferer & Sie few aiv €1 50 ufay &1 A1 =1 B
Tifte 5 arR W fasa gaurar 1 AEmaee /B @ s

U4 79. ABTSH 100 HHT ofoaT fasaemdy &1 ar & ar
g UfaIT 10318 &1 I8 U ufalYg R =40 30 wd
fJodre Tt

2dlee TT AM0T IHedRed Giaeg & deif & Aofpa &
e & ofar fop e R # femmr o= &

YRIATT (G) & 1fagiy Afa & A E2, & [dodlo a8 &

A T 0T HTSTY (NCERT, 2018, 19)
E
Fis
,__W ﬁ__ —
40Q 2V :
g i 100%:&1
<---40 qft -- = |
A +B
[ O
2
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